[ Efficiency vs vertpos |

b - et - - R

Ratio
=
I_l_l_l_?_l_l_l.l |III|IIII
- : :
A
A

0.95 : .
1072 10 1

10 0?
TP vertr (cr%)

M—=— DQM VUUUI_RUUUUU000I_GIobal—CMSSW_0TTg
—— DQM_V0001~R000000001_Global _CMSSW pl08
|:Efficienc —— DQM_V0001~R000000001__Global _CMSSW _pl075

—— DQM_V0001_R000000001_Global _CMSSW pl07
~ 0.05

YRS SRS SN TR SR S S
» : : : : :
Z0.04F------ AR R i P
3 : : : : :
9.035F - Y IEEE SUEE
5 : : : : :
£0.03- A A A P
o : : : : :
0.025F------ R S RS b e
YT NS IS NS SO B S
O SRS L LRE SRS
O R /K AL/ 00 EALE SUR
O e S O (WSS S

=30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |
~ 0.1

> : : : : :
0 0.09F - R R R

€ : : : : :
R i A A

Q0.7 ierreree e

P E : : : : :

€ 0.0BF -+ rereredoeeeee R R P

) = : : : : :

o o : : : : :

EO-OS-_ """ - R I N

5} E : : : : :
0.04F - wereberesedenenens R LR SR
L LB

Rt A O A R AL A
0.01 ; :

4
N
|
+

1.0

Ratio

F
A
r

| R
—

2o -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


